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QUESTION 1

What is the default volume or device type for swap space in Oracle Linux, when choosing the "basic storage devices"
option during the install? (Choose the best answer.) 

A. a partition on a Logical Volume Manager Logical (LVM) managed volume 

B. a partition on a local hard disk 

C. a Linux Multi Disk (MD) driver device 

D. a partition on a flash disk 

E. a swap file on the root file system 

Correct Answer: B 

 

QUESTION 2

Which statement is true concerning the /etc/sysconfig directory and its files and subdirectories? 

A. The contents are always the same for a specific version of the Oracle Linux Kernel. 

B. The file /etc/sysconfig/init is used by upstart to control the attributes of the tty devices that get started. 

C. The directory /etc/sysconfig/network-scripts contains files that must not be modified while the network is up. 

D. The files only contain default values for certain daemon processes. 

Correct Answer: B 

The /etc/sysconfig/init file controls how the system appears and functions during the boot process. 

Note: The /etc/sysconfig directory contains files that control your system\\'s configuration. The contents of this directory
depend on the packages that you have installed on your system 

 

QUESTION 3

Examine the output shown: 

[root@FAROUT fs] # rpm –qa | grep preinstall Oracle-rdbms-server-11gR2-preinstall-1.0-6.e16.x86_64 

[root@FAROUT fs] # rpm –q1 oracle-rdbms-server-11gR2-preinstall-1.0-6.e16.x86_64 /etc/rc.d/init.d/ oracle-rdbms-
server-11gR2-preinstall-firstboot /etc/sysconfig/Oracle-rdbms-server-11gR2-preinstall-verify /etc/sysconfig/oracle-rdbms-
server-11gR2-preinstall/Oracle-rdbms-server-11gR2-preinstall.param /usr/bin/oracle-rdbms-server-11gR2-preinstall-
verify 

Which three statements are true about oracle-rdbms-server-11gR2-preinstall-1.0-6.e16.x86_64 rpm? 

A. It is a new name for oracle-validated package from Oracle Linux 5 that sets parameters to the same values. 

1Z0-100 PDF Dumps | 1Z0-100 Practice Test | 1Z0-100 Braindumps                                2 / 4

https://www.pass4itsure.com/1z0-100.html
https://www.pass4itsure.com/1z0-100.html
https://www.pass4itsure.com/1z0-100.html


https://www.pass4itsure.com/1z0-100.html
2024 Latest pass4itsure 1Z0-100 PDF and VCE dumps Download

B. It creates the oracle user if not already created, which owns the Grid Infrastructure software should that get installed. 

C. It creates the grid user if not already created which owns the grid infrastructure software should that get installed. 

D. It modifies kernel parameters in /etc/sysctl.conf. 

E. It runs at the first boot after installing the packages to set a parameter indicating that is has run once. 

F. It modifies parameters in the /etc/sysconfig/network-scripts directly. 

G. It creates the osoper group, if not already created. 

Correct Answer: CEF 

 

 

QUESTION 4

You want to convert an rpm packages file into a standard format as part of a shell script and then manipulate the
contents. 

Which archive format is used by rpm? 

A. cpio 

B. tar 

C. bzip2 

D. gzip 

E. zip 

Correct Answer: A 

 

 

QUESTION 5

An Oracle Linux system has not been updated for a while and the currently running kernel is three 

releases behind the most recent kernel release. 

Each released kernel fixed several problems, totaling 11 bug fixes. 

You are about to update this kernel using this command: 

How does Ksplice Uptrack apply these updates? (Choose the best answer.) 

A. It downloads three updates, clones the running kernel in memory, applies the updates in one single atomic update,
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and uses Kexec to activate the updated kernel 

B. It downloads 11 updates and applies them one by one to the running kernel 

C. It downloads 11 updates and applies them in a single transaction to the running kernel 

D. It downloads three updates and applies them in a single transaction to the running kernel 

Correct Answer: B 
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